
ETUDE PVHT ECHAFAUDAGE_CRECHE ARCIS SUR AUBE 

 

 

                             CR       

                        CD 

                    CP 

PVHT = DS + FC + FS + FG + BA 

1.00PVHT = 1.00DS + 0.06DS + 0.01FC + 0.20CR + 0.10PVHT 

0.90PVHT = 1.06DS + 0.01FC + 0.20CR 

0.90PVHT = 1.06DS + 0.01x(0.06DS) + 0.20CR 

0.90PVHT = 1.06DS + 0.0006DS + 0.20CR 

0.90PVHT = 1.0606DS + 0.20CR   CR = PVHT – BA = 0.90PVHT 

0.90PVHT = 1.0606DS + 0.20x(0.90PVHT) 

0.90PVHT = 1.0606DS + 0.18PVHT 

0.72PVHT = 1.0606DS 

PVHT = 1.0606/0.72DS 

PVHT = 1.47306DS soit +47.31% 

 

 

 

 

 


